[ Efficiency vs vertpos |
~ 0.05

9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015
0.04
0.005

&

1.0

Ratio

—r———
"
T
s
s
ug

0.95L : :
1072 10 1

10 0?
TP vertr (cr%)

—=— DQM_V0001_R000000001__Global_mKkFit10000__RECO

Efficiend —— DQM_V0001_R000000001__Global_mkFit1000_RECO
ICIeNd _,__ pQM_V0001_R000000001__Global__mkFit1000ATime RECO

N 0.1: "
LY S S R S S
%] F . | . : :
>0.08------ [ARRRRERE & RERRN R i e
> F H H : : :
e E : : : : :
S S | E S S S
o o : : : :
£ 0.06------ AR | | R R I SR [
] o : : : :
S RIS | R ALY SR SIS
0.04f- -+~ J -------- -

R iy
I Q ........ "
000 oo
.0 i

Ratio

H
T

30 -20 -10 O 10 20 30
TP vert z (cm)

0.95!

[ Efficiency vs. sim PV z |
~ 0.1

>
2 0.09

€ : : : : : :
Tt < R TR S S S S A R

....................................

........

4

- 0 0 0 0 0 0 0 B i

P08 6 -4 -2 0 2 4 6 8 10
Sim. PV z (cm)



	Contents
	Page 1


